Pre—Fmal Test Examination, 2021

H.S. Second Year

Sub : Business Mathematics & Statistics
Full Marks : 100 Time: 3 hours

(The figures in the margine indicate full marks for the questions.)

1) Answer the following questions as directed: 1x10=10
GoTd PHTPREIR O BRI B it ¢
(a) Write ture or false.
6} (H ST 14 2
A .M. is affected by extreme observations.

SR g 5 WS 291 Foifde 27 |
(b) Evalutae :

W Refaza e

2 =3 =1 -2
A
{(c) Which measure of average is very much affected by extreme values?
ST (PINCE! W 53w Wi =l H{Es eifde 23|
(d) Fill in the gap :
Al I A 71 ¢
AM X HM = ..ccnvnse
RIS BT | TR U e ——
(e) What is the arithmatic mean of first » natural numbers? -
7 Bl Freifes YR
(f) Fill in the blank :
el S T T ¢
The harmonic mean of 36 and 9 is
36 S 9 I TR WG A ..o
(g) Define scalar matrix with an example.

Bvizad 3% 5 Wi e gws! el |




(h) Find the coefficient of range for the following data :
SR O AAIRE BT Al 111
. Rs. (20, 21, 22, 25, 30, 45, 50, 60)
(i) What is the difference between simple interest and compound interest?
T IS W% G o ALy [ e
(j) Write down the basic difference between a matrix and a determinant.

Gl o< fReffaa o “N1est |
(k) Fill in the blanks :
e} 312 239 71 3

(1) Which decile is equal to median?
CRIACH! NI I RT3 =7 |
2) Answer the following question in brief : 2x10=10
(a) What are the difference between ¢ and {¢} ?
¢ S {g} IS o< (b2

5 x|
(b) For what value of x the matrix 4= will be sigular?
-2 4

5
x IFIRIAE 4= [2 Jaﬁfﬁf@cﬁmi’m

(c) Find mean diviation about the median of the following date :
SeTR Y TG #f11 oG Roer fefm w1 ¢
Marks (7729) : 31, 39, 40, 29, 35 ;
(d) Write down the subsets of the sit given below : T
SR ARG O R Boca o o | Yo
{1, {3, 5}, 6}

(e) Write two properties of a diterminant.
51 R Rt wot «f faat

(O IfAMof x-6, x—3, x+3 and x+6 is 10, then find x.
x—6,x—3, x+3 T x+6 IR NG 10T x I [efa T



(8) At What rate of S.I. pa will Rs. 1500 produce the same interest in 5 years as Rs.
3125 produce in 3 years at 4% pa.

% 3791 3% 2 1500 TR 5 T4 37, 3125 BT IR 4% I oA TS 3 TR
ST AN 39 2

S;lzoln the determinant given below, what are the minor and cofector of the element

SR fRefiaere 3 GRETCoR SIS sz R e

1 0 -5
3 -1 2 e
4 6 -3

1 2
(i)IfA=\i2 1] then show that, A2—2A=_31- '

1 2 , =W
‘TﬁA=l:2 1] O (TS @, 42 -24=31-

() Determine standard deviation from the following observations :
SR WY A W R w4
1,2,3,4,5,6,7,8,9,10, 11, 12.
3. Compund interest and simple interest on a certain sum of money for 2 years are
respectively Rs. 920.25 and Rs. 900. FInd the sum and the rate of interest. 4
I TELAT (I I S IS 2 I 5 [ [ SN 7T IS FH 920.25 5 &+
900Wq’caqamwv1wmﬁm?

4. Construct a 2 x3 matrix wher 21#1. 4

2x3 WA <1 cﬁawmwm 211—1 |

5. Prove that, &9 T4 (3, } ‘. ; : ._. . 4
l+a 1 1 YR G

1 l+a .1 |=d*(@@+3)
1 1 1+a



6. The arithmatic mean of sample sizes 50 and 75 are 75 and x respectively. If the
arithmatic mean of 125 obdervations of both the samples taken together is 66, then
find x. 4.

501 75 (sIBRRE 71 elfiomsi SIas N4 T 75 S . T it eifowed g #

9T 125 B (AIGS ANGR T4 66 2, (SR T x I WA i 2
7. If median of the following distribution is 32.5 marks, then find the missing

frequency f; : 4
o RIS Reteme 4w 32.5 799 T0F, L I £, el 4t
Marks (939) : 10-20  20-30  30-40 40-50  50-60
No. of Student (Faa 3ic0l) : 3 5 f 3 1
8. Calculate the Harmonic mean of 4, 8 and 12. Y 4

4,8 % 12 3% Weg FRefr vt
9. Find the simple interest on Rs 5000 from 4th March 1998 to 28th July, 1998
@ 6.% p a. 4
19985334:11@9121128%&‘?61@\%6%msooonﬁ—wwﬁcﬁwn

(3 512 -5] [1 0O

- 10.If, 1 y| |1 x_=_0 1] whatisthevalueofiand y? | | 4
'{Iﬁ_:; s1[2. -5] [1 0 .
1 y| -1 x |70 1] SR xTER Yy IR Fe
1L IERR 0o s EREET | 4.

U={a,b,c,d,e, f,g, h}
A={a,c, e, g}
B={d,e, f, g}
C={a, f,g h}

| then find, (S=ZtE AT 541 ¢
(i) AN(BUC)
(i) 4'N(B-C)



12. Compound interest for 2nd year on a certain sum at 4% pa is Rs. 25. Find C.I. for

3rd year. 5
TR 4% 9 TS (! o4 2o I291 5 7 25 5hl Lo PO I barq
LA ICK:

13. Calculate the standard deviation from the data given below : 5
@o S #RI WS {[{oe ey zwt o |

Daily wage : 5-15  15-25 25-35  35-45 45-55  55-65
i g

No. of workers : 3 5 7 10 3 2
S A ,

14. Solve by Cramer’s rule : 5

(NI T AT B TG 90
3x-5y=17, 4x+y=17 | .
_ 15. What is measures of dispersim? Discuss the different types of dispersiom. 5
fRmera Wivl 15 2 Fvzgerw Rfew wivicais sticensal o |
"+ 16. From the data given below, find the coefficient of quartile deviation : ~ 6
©o1Y SR #1915 e @ik [T 1 8
Class interval : 25-35  35-45 45-55 55-65 65-715
) Sraie]
Frequency : 2 10 25 16 7
BISISIES)
17. If, I 6
1 0 2
A=[0 2 1
2 0 3

Prove that, 254 F (3,

A =64 +TA+21=0
or/ai33t



Find median from the following data :

ICEEACRISE LR RSERES K
Marks : 0-10 10-20 20-30 30-40 40-50
KR
No. of Student : 14 23 27 21 15
B9 73
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